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1) 2x-5(x + 2)(x + 3)

2 -5x+2)x+3)= -9x+2-11x+3
2) 2x + 22x2 + 2%

2X + 22x2 + 2x =2x + 22x(x + 2) = 11x-9x + 2
3)4x - 30x2 - 8x + 15

4x - 30x2-8x+ 15 =4x-30(x-5)(x-3)=-bx-5+9x-3
4)6x2 -7x+ 10(x-2)x2 + 1)

6x2-7x+10x-2)x2+1)=4x-2+2x-3x2 + 1
5) 2 -3x-4x2x(x-1)(1 - 2x)

2-3x-4x2x(x-1)(1-2x) =-2x + 5x-1+ 21 - 2x
6) x8x2 - 10x + 3

x8x2 -10x + 3 =x(4x-3)(2x-1) = 32(4x-3)-12(2x - 1)
7) 12x3 - 3x2 - 32x -15

12x3-3x2-32x-15=1(x + 3)(x-5)(2x + 1)

= 140(x + 3) + 188(x-5) -455(2x + 1)

8) 9x2 - 9x + 62x3 - x2 - 8x +4

Ox2 -9x + 62x3-%x2-8x+4 =9x2-9x + 0(x-2)(x + 2)(2x - 1)

=2x-2+3x+2-12x-1
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9) 5-3x-x2-x3 + 3x2 + 4x-12
5-3x-%x2-x3 +3x2+4x-12=5-3x-x2(x + 2)(x - 2)(3 - x)
=14(x+2)+74(x-2)+ 13 -x
10) (x - 3)2x3 - 16x

(x - 3)2x3 - 16x = (x - 3)2x(x + 4)(x -4) = -916x + 4932(x + 4)
+ 132(x - 4)

11) 7x - 3x2 - 8x + 16
7x-3x2-8x+16=7x-3(x-4)2=7(x-4) + 25(x-4)2
12) 1(x + 1)(x - 2)2
Ix+1)(x-2)2=19x+1)-19(x-2) + 13(x-2)2
13) 2x2 - x - 6x3 + 4x2 + 4x

2X2 -X-0xX3 +4x2 +4x =2x2 -x-0x(x + 2)2 =-32x + 72(x + 2) -
2(x + 2)2

14) x - 3x3 + 3x
X-3x3+3x=x-3x(x2+3)= -lx+x+ 1x2 + 3
15)x2 + 2x + 40x3 - 125

X2 + 2x + 40x3-125 =x2 + 2x + 40(x - 5)(x2 +5x + 25) = 1x-5
- 3x2 +5x + 25

16) -2x3 - 30x2 + 36x + 216x3 + 216

-2x3 - 30x2 + 36x + 216x3 + 216 = -2 +
-30x2 + 36x + 648x3 + 216

17)x3 + 12x2 + 33x + 2x2 + 8x + 15

Xx+4+-14x-58x2 +8x+15=x+4+ -14x-58(x + 5)(x + 3)
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XxX+4-6(x+D5)-8x+ 3)
18) x5 -2x4 + x3 + x+ bx3 - 2x2 + x -2
X2+ 2x2 +x+5x3-2x2 +x2=x"+3x2-x+1x2 + 1

328 > (12a(x - a-a(12a(x + a 6,50l 1x2 - a2 &bS oSas &1 ol (19

1x2-a2 =Ax-a+Bx +a
Ax+a)+B(x-a)=1
‘B =-12a ] @ity X = -0 Jaysris « 1284 = Yl @iy JaugeiX = a
1x2-a2 =12a(x-a)+ -12a(x + a)
:03)

1x2 -a2 =12a(x-a)-12a(x + a)

. dod 228 px 4+ 3 = 5x(X + 3)2 -p3p(x + 3)2 oS I3] (20

pPX - 379(x2 + 2) = x2 - 8x + 7(x - - (8p3(x-1)2 + p9(x -1 8 I3] (21
cdaawd 22 ! (1)2(x2 + 2p

(px - 37)(x - 1)2 - p(x-1)(x2 + 2) + 24p(x2 + 2)9(x - 1)2 (x2 + 2) =
X2 -8x+ 7(x-1)2(x2 + 2)

I9x*+8x+7)=(px-37)(x-1)-pkx-1) (xX* + 2) + 24p(x* + 2)
ey X = 1 9l quiis:
91+ 8+ 7)=24p(1 + 2)

144 = 72p
o> lgio 3/4
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R(x) = 2000(4 - 3x)(11 - 7x)(7-4x), 0 = x =<1
eule rgadl 8Ll a2 50 R(X) g+ zall 2> Hlodoe cumx

a2 yomS Wl R(X) oladyl ezl (22

2000(4 - 3x)(11 - 7x)(7 - 4x) = -200011 - 7x + 20007 - 4x = 20007 - 4x
--200011 - 7x

a2 Jil olsly polall b5 a2, sl 0Ll gw §all Jiay ROO 015 15] (23
bl ¢ ,all Tusiio opuili8Y1 o US 321 . polall 6,1,

5,15 42,3 wiol oLisl 4 - 20007 g» 6,1, 4> el ol il
.200011 - 7 o»

ol aln o8 83,1l bl ST (24
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